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BAdEEHBA —/ L 2022/12/ 3 BRIARERT 10:34  #R T RERE 10:34
JEfT  No. EF#£ FrE% # qumHh s dLE £
1 124 FEE <L BEFIRY b 24 | 4:16.67 0.00
2 17 914 Y7LYY LI Y Ar-b-4 24 0 4:17.26 0.59
3 16 HHE KT J ®WEZ£EK 23 o] 4:36.39  19.71
4 122 AKX = EfEEXE 23 1 4:36.94  20.26
5 15 BT X% J HWE=ZLER 22 0 4:3717  20.50
6 36 HM BAX J HWEEEER 22 | 4:38.66  21.99
7 31 BB WA J HWEREER 21 | 4:38.69  22.02
8 57 B #F J  TiRErdh SRR 4 | 4:44.74  28.07
9 60 A BE J HWEFERPER 15 | 4:47.47  30.79
10 17 HR 71E&E J HE=Z&ER 21 o 4:48.04  31.37
1 8 KiE #ib J HWEXEER 8 o 4:49.10  32.43
12 23 #WF ZkE J hEEKR 19 | 4:49.48  32.80
13 35 @K 1EH J HWEREER 19 o] 4:51.30  34.63
14 20 7R FE J ®WLE=ZE£ER 16 o 4:51.95  35.28
15 99 EE JF J  HARERPER 20 0 4:52.35 35.68
16 75 kA H®HF J  HIEENPER 16 1 4:54.48 37.81
17 42 BE pI3E J  EAlREE 6 | 4:55.73  39.06
18 95 ERif HESR J  BEDER 7 0 4:55.94 39.27
19 64 TEH HhE J ®WEFEtPER 2 o 4:56.68  40.00
20 7 & RE J  EmdER 10 1 5:00.45  43.78
21 107 {EIE k& J  BEREE 18 | 5:00.62  43.95
22 56 L%H &% J  TiRETdh SRR 17 1 5:02.49  45.82
23 59 KB #® J BERER 18 o] 5:03.00  46.33
24 1 mn# HH J BAXHERIS/MMEE 3 | 5:05.24  48.56
25 45 U FE J  FEHRER 10 0 5:05.39  48.72
26 2 it B&E J  IRRER 14 1 5:06.01 49.34
27 13 AF B J BEZEER 13 | 5:06.02  49.35
28 77 xH BE J  HIEFENPER 3 0 5:06.38  49.71
29 38 BIE IR J ®WEREER 17 o] 5:06.74  50.07
30 104 /NEF EETE J  Vortex 14 o 5:07.76  51.09
31 114 EEE EHFE J  BERER 11 | 5:08.43  51.76
32 50 M#H TEME J  HRbER 2 1 5:10.61 53.94
33 87 8 WHE J  HAhER 5 | 5:11.88  55.21
34 58 X J  TiRETdh SRR 6 o] 5:13.17 56.49
35 76 #MI EH J  HWIEE/\HREE 13 o] 5:18.74 1:02.06
36 86 EHiE &% J At 4 0 5:20.19 1:03.51
37 123 B DB J  FERER 9 o 5:21.12 1:04.45
38 113 HEE R1TE J  HmETER 12 0 5:22.05 1:05.37
39 103 iF@E #HF J  FBIRERE 12 | 5:22.12 1:05.45
40 4 HHE <5 J  BEdiEi 1 1 5:22.41 1:05.74
41 106 Il = J  FRPER 8 | 5:22.96 1:06.29
42 98 (£l HE J  MEDER 11 0 5:25.61 1:08.93
43 70 fkEE B J  RERER 1 o 5:26.42 1:09.75
44 49 @A L J  HFRbER 9 1 5:33.62 1:16.95
45 90 LtH xH#& J BERPER 7 | 5:34.68 1:18.01
46 9% K= = J  BEER 5 0 5:42.49 1:25.82
47 63 k#E EF J ®WEEtPER 15 (o] 5:44.48 1:27.80
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